[image: image1.png]


Name
[image: image5.jpg]


 Class
[image: image6.png]


Date
[image: image9.jpg]



Reteaching
1-4
Measuring Angles
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The vertex of an angle is the common endpoint of the rays that form the angle. An angle may be named by its vertex. It may also be named by a number or by a point on each ray and the vertex (in the middle).
This is (Z, (XZY , (YZX, or (1.
It is not (ZYX, (XYZ, (YXZ, or (ZXY .
Angles are measured in degrees, and the measure of an angle is used to classify it.
The measure of
The measure of a
The measure of an
The measure of a
an acute angle
right angle is 90.
obtuse angle is between
straight angle is 180.
is between 0 and 90.
90 and 180.
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Exercises
Use the figure at the right for Exercises 1 and 2.
1. What are three other names for (S?
2. What type of angle is (S?
3. Name the vertex of each angle.
a. (LGH
b. (MBX
Classify the following angles as acute, right, obtuse, or straight.

4. m(LGH = 14
5. m(SRT = 114
6. m(SLI = 90
7. m(1 = 139
8. m(L = 179                                                          9. m(P = 73
Use the diagram below for Exercises 10–18.

Find the measure of each angle.
10. (ADB
11. (FDE
12. (BDC
13. (CDE
14. (ADC
15. (FDC
16. (BDE
17. (ADE
18. (BDF
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Reteaching (continued)
1-4
Measuring Angles
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The Angle Addition Postulate allows you to use a known angle measure to find an unknown angle measure. If point B is in the interior of (AXC, the sum of m(AXB and m(BXC is equal to m(AXC.
m(AXB + m(BXC = m(AXC
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If m(LYN = 125, what are m(LYM and m(MYN?



Step 1 Solve for p.
m(LYN = m(LYM + m(MYN
Angle Addition Postulate
125 = (4p + 7) + (2p ( 2)
Substitute.
125 = 6p + 5                   
Simplify
120 = 6p
Subtract 5 from each side.
20 = p
Divide each side by 6.
Step 2 Use the value of p to find the measures of the angles.
m(LYM = 4p + 7
Given
m(LYM = 4(20) + 7
Substitute.
m(LYM = 87
Simplify.
m(MYN = 2p ( 2
Given
m(MYN = 2(20) ( 2
Substitute.
m(MYN = 38
Simplify.
Exercises
19. X is in the interior of (LIN. m(LIN = 100, m(LIX = 14t, and 
m(XIN = t + 10.
a. What is the value of t?
b. What are m(LIX and m(XIN?
20. Z is in the interior of (GHI. m(GHI = 170, m(GHZ = 3s ( 5, and
 m(ZHI = 2s + 25.
a. What is the value of s?
b. What are m(GHZ and m(ZHI?
Prentice Hall Geometry • Teaching Resources
Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved.
40






